
THE UNIVERSITY OF TEXAS AT SAN ANTONIO
EE 3413
ANALYSIS AND DESIGN OF CONTROL SYSTEMS

Q U I Z # 8
Ahmad F. Taha

April 7, 2016

Name:

This figure shows the block diagram representation of a compensator U(s)/E(s).

Prove that this block diagram can be reduced into a PID controller with the three
gains for the proportional, derivative, and integrator components. Derive these con-
stants, i.e., derive Kp, Ti, Td in terms of K0, T1, T2, K, by obtaining the CLTF for the
above system. Your answer should look like:

GPID(s) = Kp

(
1 +

1
Tis

+ Tds
)

.

1


